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Introduction
An LS on NR SL unlicensed LBT failures UE behaviour was sent from RAN4 to RAN2, and Cc to RAN1[1]. According to the LS, RAN4 has agreed to define measurement delay requirements as function of CCA failures (L1) during a defined evaluation period, and the details are copied from the LS as below: 
	RAN4 has discussed RRM requirements for following sidelink procedure:
· Procedure for initiation/cease of SLSS transmissions

Based on the discussion, RAN4 has agreed to define measurement delay requirements as function of CCA failures (L1) during the evaluation period (Tevaluate,SLSS_CCA), where
· L1 is the number of occasions containing sidelink synchronization reference signal of the SyncRef UE not available at the UE during Tevaluate,SLSS_CCA due to the CCA failures; L1, max is the maximum number of allowed occasions containing sidelink synchronization reference signal of the SyncRef UE not available at the UE during Tevaluate,SLSS_CCA due to the CCA failures where L1 ≤ L1, max.
When the extension of evaluation period reaches L1, max, the number of available occasions containing sidelink synchronization reference signals during Tevaluate,SLSS_CCA is not enough to derive an accurate PSBCH-RSRP measurement result, which cannot be used to compared with syncTxThreshO and futher determine whether to initiate/cease SLSS transmission. 
RAN4 would like to ask RAN2 which of the following options regarding the UE behaviour is reasonable from RAN2 perspective:
· The UE measures PSBCH-RSRP and evaluates whether to initiate/cease SLSS transmissions within Tevaluate,SLSS_CAA, and upon exceeding the maximum allowed CCA failures during Tevaluate,SLSS_CCA, the UE shall:
· Opton 1: cease all SLSS transmissions,
· Option 2: initiate SLSS transmissions 
· Option 3: UE keeps current SLSS transmission status.


But from RAN1’s perspective, clarifications on L1, L1,max, i.e., the number of S-SSB occasions and the maximum number of allowed S-SSB occasions, which are not available at the UE, is needed if additional S-SSB occasions are (pre-)configured for operation with shared spectrum channel access, and this contribution shares our views and suggestions on this issue.
Discussions 
About additional candidate S-SSB occasions, the following conclusion and proposal have been achieved for SL-U:
	Conclusion
Regarding additional candidate S-SSB occasions, in the same S-SSB period, UE can attempt to transmit on additional candidate S-SSB occasion(s) regardless of whether or not it transmitted on R16/R17 S-SSB occasion(s).
Agreement
Regarding the number and location(s) of additional candidate S-SSB occasions, support:
· Option 2 (12): Each R16/R17 NR SL S-SSB slot has K corresponding additional candidate S-SSB occasion(s) in different time slot(s), and the gap between them is (pre-)configured
· FFS details, e.g., value of K, details on gap length (including possibility of being 0), etc.


Based on the above conclusions, the following can be observed.
UE shall attempt to transmit on R16/R17 S-SSB occasion(s), and it is up to UE implementation whether to transmit on additional candidate S-SSB occasion(s). 
When an additional candidate S-SSB occasion is not available, the UE measuring PSBCH-RSRP cannot determine whether or not it is due to the CCA failure at the SyncRef UE. 
As mentioned in the LS from RAN4, L1 is the number of occasions containing sidelink synchronization reference signal of the SyncRef UE not available at the UE during Tevaluate,SLSS_CCA due to the CCA failures, but from our perspective, companies may have different understandings on deriving L1, more clarification is needed.
Understanding 1: L1 is increased by 1 if and only if a R16/R17 S-SSB occasion containing sidelink synchronization reference signal of the SyncRef UE is not available during Tevaluate,SLSS_CCA.
Understanding 2: L1 is increased by 1 if any S-SSB occasion containing sidelink synchronization reference signal of the SyncRef UE is not available during Tevaluate,SLSS_CCA, i.e., taking both R16/R17 S-SSB occasions and R18 additional candidate S-SSB occasions into account.
Understanding 3: L1 is increased by 1 if a R16/R17 S-SSB occasion and its K corresponding additional candidate S-SSB occasion(s) containing sidelink synchronization reference signal of the SyncRef UE are not available during Tevaluate,SLSS_CCA.
[bookmark: _Toc146808536][bookmark: _Toc146719138]To check with RAN4, which understanding as follows is correct:
[bookmark: _Toc146719139][bookmark: _Toc146808537]Understanding 1: L1 is increased by 1 if and only if a R16/R17 S-SSB occasion containing sidelink synchronization reference signal of the SyncRef UE is not available during Tevaluate,SLSS_CCA.
[bookmark: _Toc146719140][bookmark: _Toc146808538]Understanding 2: L1 is increased by 1 if any S-SSB occasion containing sidelink synchronization reference signal of the SyncRef UE is not available during Tevaluate,SLSS_CCA, i.e., taking both R16/R17 S-SSB occasions and R18 additional candidate S-SSB occasions into account.
[bookmark: _Toc146719141][bookmark: _Toc146808539]Understanding 3: L1 is increased by 1 if a R16/R17 S-SSB occasion and its K corresponding additional candidate S-SSB occasion(s) containing sidelink synchronization reference signal of the SyncRef UE are not available during Tevaluate,SLSS_CCA.
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Figure 1 Example for R16/R17 S-SSB occasion and its corresponding additional candidate S-SSB occasion(s)
[bookmark: _GoBack]Taking Figure 1 as an example, assuming that Tevaluate,SLSS_CCA is three S-SSB periods, and L1,max is 2. For understanding 1, it may be possible that L1 reaches L1,max but the UE can still derive an accurate PSBCH-RSRP measurement result based on the additional candidate S-SSB occasion(s). For example, as shown in Figure 1, the first two of R16/R17 S-SSB occasions of the SyncRef UE not available reaches L1,max, but there are enough S-SSB transmissions from SyncRef UE on the R18 additional S-SSB occasions. For understanding 2, it also has similar issues as understanding 1 as all the S-SSB occasions are taken into account and L1 may reach L1,max more easily. While for understanding 3, a R16/R17 S-SSB occasion and its K corresponding additional candidate S-SSB occasion(s) can be regarded as a S-SSB occasion as Rel-16/17, it seems more reasonable. 
Considering the above problems for understanding 1 and 2, understanding 3 is preferred.
[bookmark: _Toc146719142][bookmark: _Toc146808540]Reply to the LS informing RAN2 and RAN4, from RAN1’s perspective, understanding 3 is preferred. i.e. L1 is increased by 1 if a R16/R17 S-SSB occasion and its K corresponding additional candidate S-SSB occasion(s) containing sidelink synchronization reference signal of the SyncRef UE are not available during Tevaluate,SLSS_CCA.
[bookmark: _Toc24703][bookmark: _Toc18214][bookmark: _Toc61870095][bookmark: _Toc15935][bookmark: _Toc20503][bookmark: _Toc61870567][bookmark: _Toc61870757][bookmark: _Toc61872237][bookmark: _Toc14775][bookmark: _Toc15096][bookmark: _Toc61870537][bookmark: _Toc61869984][bookmark: _Toc16191][bookmark: _Toc61870302][bookmark: _Toc61870226][bookmark: _Toc61870287]
Conclusion
Based on above discussion, the following observations and proposals are given: 
Observation 1: UE shall attempt to transmit on R16/R17 S-SSB occasion(s), and it is up to UE implementation whether to transmit on additional candidate S-SSB occasion(s).
Observation 2: When the SyncRef UE is not available on an additional candidate S-SSB occasion, the UE measuring PSBCH-RSRP cannot determine whether or not it is due to the CCA failure at the SyncRef UE.

Proposal 1:	To check with RAN4, which understanding as follows is correct:
•	Understanding 1: L1 is increased by 1 if and only if a R16/R17 S-SSB occasion containing sidelink synchronization reference signal of the SyncRef UE is not available during Tevaluate,SLSS_CCA.
•	Understanding 2: L1 is increased by 1 if any S-SSB occasion containing sidelink synchronization reference signal of the SyncRef UE is not available during Tevaluate,SLSS_CCA, i.e., taking both R16/R17 S-SSB occasions and R18 additional candidate S-SSB occasions into account.
•	Understanding 3: L1 is increased by 1 if a R16/R17 S-SSB occasion and its K corresponding additional candidate S-SSB occasion(s) containing sidelink synchronization reference signal of the SyncRef UE are not available during Tevaluate,SLSS_CCA.
Proposal 2:	Reply to the LS informing RAN2 and RAN4, from RAN1’s perspective, understanding 3 is preferred. i.e. L1 is increased by 1 if a R16/R17 S-SSB occasion and its K corresponding additional candidate S-SSB occasion(s) containing sidelink synchronization reference signal of the SyncRef UE are not available during Tevaluate,SLSS_CCA.
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